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Materials: Periodic Table, colored pencils

What To Do:

1. Fill in the data table below with the elements and their
percentages that were given in the paragraph on the first
page.

2. Use the Periodic Table to find each element’s symbol.
3. Make a bar graph of the elements found in the Earth’s
Crust.

Element Symbol Percent

Questions:
1. Which three elements are the most abundant in the

earth’s crust?

2. Which element is the least abundant in the earth’s

crust?

3. What are the rules for writing the symbols for

elements?




Name period Name period

EXIT TICKET EXIT TICKET

Facts about the Earth Facts about the Earth
1. What does the word abundant mean?

1. What does the word abundant mean?
A. not having enough of something

A. not having enough of something B. having a great deal of something

B. having a great deal of something C. having too much of something

C. having too much of something

2. Which of the following is NOT an abundant
2. Which of the following is NOT an abundant element element found in the Earth’s crust?
found in the Earth’s crust?

A. Silicon
A. Silicon B. Oxygen
B. Oxygen C. Helium
C. Helium
3. Which of the following symbols for Oxygen is
3. Which of the following symbols for Oxygen is written written correctly?
correctly?
A.o
A.o B.O
B.O C.0X
C.0X
4. Which of the following symbols for Silicon is
4. Which of the following symbols for Silicon is written written correctly?
correctly?
A. si
A. si B. sl
B. sl C. Si

C. Si



